J. Symbolic Computation (1986) 2, 3-43

An Algorithm for Solving Second Order Linear
Homogeneous Differential Equations

JERALD J. KOVACIC

JYACC Inc., 919 Third Avenue.
New York, NY 10022, U.S.A.

(Received 8 May 1985)

In this paper we present an algorithm for finding a “closed-form™ solution of the differential
equation v +ay’ + by, where a and b are rational functions of a complex variable x, provided a
“closed-form™ solution exists. The algorithm is so arranged that if no solution is found. then
no solution can exist.

1. Introduction

In this paper we present an algorithm for finding a “closed-form™ solutien of the
differential equation y”+ay +by, where a and b are rational functions of a complex
variable x. provided a *“‘closed-form™ solution exists. The algorithm 1s so arranged that if
no solution is found, then no solution can exist.

The first section makes precise what is meant by “closed-form™ and shows that there
are four possible cases. The first three cases are discussed in sections 3, 4 and 5
respectively. The last case is the case in which the given equation has no “closed-form™
solution. It holds precisely when the first three cases fail.

In the second section we present conditions that are necessary for each of the three
cases. Although this material could have been omitted. it seems desirable to know in
advance which cases are possible.

The algorithm in cases 1 and 2 is quite simple and can usually be carried out by hand.
provided the given equation is relatively simple. However, the algorithm in case 3
involves quite extensive computations. It can be programmed on a computer for a spegific
differential equation with no difficulty. In fact, the author has worked through several
cxamples using only a programmable calculator. Only in one example was a co'r;lputer
necessary. and this was because intermediate numbers grew .to 20 decimal digits. more
than the calculator could handle. Fortunately, the necessary conditions for case 3 are
quite strong so this case can often be eliminated from consideration.

The algorithm does require that the partial fraction expansion of the coeflicients of the
differential equation be known. thus one needs to factor a polynomial in one variable
over the complex numbers into linear factors. Once the partial fraction expansions are
known. only linear algebra is required.

Using the MACSYMA computer algebra system, see. for example. Pavelle & Wang
(1985), Bob Caviness and David Saunders of Rensselear Polytechnic Institute
programmed the entire algorithm (see Saunders (1981)). Meanwhile, the algorithm has

0747-7171 86:010003 +41 S03.00°0 ¢ 1986 Academic Press Inc. (London) Ltd.



4 J. J. Kovacic

been implemented also in the MAPLE computer algebra system, see, for example, Char er
al. (1985), by Carolyn Smith (1984).

This paper is arranged so that the algorithm may be studied independently of the
proofs. In section 1, parts 1 and 2 are necessary to understand the algorithm, parts 3 and
4 are devoted to proofs. In the other sections, part 1 describes the algorithm, part 2
contains examples, and the remaining parts contain proofs.

Since the first appearance of this paper as a technical report, a number of papers have
appeared on the same problem: Baldassarri (1980), Baldassarri & Dwork (1979), Singer
(1979, 1981, 1985).

Special thanks are due to Bob Caviness and David Saunders of RPI for their
encouragement and assistance during the preparation of this paper.

1. The Four Cases

In the first part of this section we define precisely what we mean by ““closed-form™
solution. In the second part we state the four possible cases that can occur. These cascs
are treated individually in the latter sections. The third part is devoted to a brief
description of the Galois theory of differential equations. This theory is used in the proofs
of the theorems of the present chapter and those of sections 4 and 5. Part 4 contains a
proof of the theorem stated in part 2.

1.1. LIOUVILLIAN EXTENSIONS

The goal of this paper is to find *‘closed-form™ solutions of differential equations. By a
“closed-form™ solution we mean, roughly, one that can be written down by a first-year
calculus student. Such a solution may involve esponentials. indefinite integrals and
solutions of polynomial equations. (As we are considering functions of a complex
variable. we need not explicitly mention trigonometric functions. they can be written in
terms of exponentials. Note that logarithms are indefinite integrals and hence are
allowed.) A more precise definition involves the notion of Liouvillian field.

DErFINITION. Let F be a differential field of functions of a complex variable v that contains
C(x). (Thus F is a field and the derivation operator ' (= d/dx) carries F into itself). F is
said to be Liouvillian if there is a tower of differential fields

Cx)=F,cF, - cF,=F
such that, foreachi=1.... n,
either F,=F,_(x) where 2'/aeF,_,
(F; is generated by an exponential of an integral over F,_ )
or F,=F,_(2) where 2’ eF,_,
(F; is generated by an integral over F, )
or F, is finite algebraic over F,_,.

A function is said to be Liouvillian if it is contained in some Liouvillian differential field.
Suppose that » is a (non-zero) Liouvillian solution of the differential equation
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v'+ay +by, where a, be C(x). It follows that every solution of this differential equation is
Liouvillian. Indeed. the method of reduction of order produces a second solution, namely
nj(e*»(“/nz). This second solution is evidently Liouvillian and the two solutions are
linearly independent. Thus any solution, being a linear combination of these two, is
Liouvillian.

We may use a well-known change of variable to eliminate the term involving )’ from
the differential equation. Set z = e1*y. Then 2"+ (b—%a*—1a)z = 0. This new equation
still has coefficients in C(x) and evidently y is Liouvillian if and only if z is Liouvillian.
Thus no generality is lost by assuming that the term involving y' is missing from the
differential equation.

1.2 THE FOUR CASES
In the remainder of this paper we shall consider the equation
V' =ry, reC(x).

We shall refer to this equation as “the DE™. To avoid triviality, we assume that r¢ C. By
a solution of the DE is always meant a non-zero solution.

THEOREM. There are precisely four cases that can occur.

Case 1. The DE has a solution of the form e'® where we C(x).

Case 2. The DE has a solution of the form e'® where w is algebraic over C(x) of degree
2, and case 1 does not hold.

Case 3. All solutions of the DE are algebraic over C(x) and cases 1 and 2 do not hold.

Case 4. The DE has no Liouvillian solution.

It is evident that these cases are mutually exclusive, the theorem states that they are
exhaustive. The proof of this theorem will be presented in part 1.4.

1.3. THE DIFFERENTIAL GALOIS GROUP

Here we present a brief summary of the Picard—Vessiot theory of differential equations
(see Kaplansky (1957), or Chapter 6 of Kolchin (1973)), which is tailored specifically to
the DE y" =ry.

Suppose that 5. is a fundamental system of solutions of the DE (where #.,{ are
functions of a complex variable x). Form the differential extension field G of C(z)
generated by #, (, thus

G = C(x)<n, > =Cx)n.n'. .0).

Then the Galois group of G over C(x), denoted by G(G/C(x)). is the group of all
differential automorphisms of G that leave C(x) invariant. (An automorphism ¢ is
differential if a(a’) =(oa)’ for every aeG.) We refer the reader to the references cited
above for a proof that the Fundamental Theorem of Galois Theory holds in this context.

There is an isomorphism of G(G/C(x)) with a subgroup of GL(2), the group of
invertible 2 x 2 matrices with coefficients in C. Let g € G(G/C(x)). Then

(o) = 0(n") = a(tn) = ron.
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Hence. o is also a solution of the DE and so is a linear combination oy =a,n+c,<. d,.
¢, €C, of y, (. Similarly, ¢{ =b,n+d,{ for some b,, d, eC.

. a, b(x
c.0 c d(f

is immediately seen to be an injective group homomorphism.

This representation c¢:G(G/C(x))—> GL(2) certainly does depend on the choice of
fundamental system #. (. If 5, {; is another fundamental system. then there is a matrix
X € GL(2) such that (n,. ;) = (1. O)X. Therefore.

G =C)n. O =Cx)N. ¢y and ¢ (o) = X " 'c(o)X.

The representation G(G/C(x)) - GL(2) is determined by the DE only up to conjugation.
By abuse of language. we allow ourselves to speak of any one of these conjugate groups as
the Galois group of the DE. If a fundamental system #.J is fixed, then we refer to
¢(G(G/C(x))) = GL(2) as the Galois group of the DE relative to . .

Fix a fundamental system #, { of solutions of the DE and let G = GL(2) be the Galois
group relative to #, {. Let W =yl —y'C be the Wronskian of . {. A simple computation.
using the DE, shows that W' =0, so W is a (non-zero) constant and is left fixed by any
element of G(G/C(x)). Let o€ G(G/C(x)), then, using the notation above.

W=oW= (aar] +Ca;)(bo'n/ +dn":l)-(aar’/+c«7;/)(ba’7+dn‘:)
= (a,d,—b,c,)W = det c(a) - W.
Thus G < SL(2), the group of 2 x 2 matrices with determinant 1.

Recall that a subgroup G of GL(2) is an algebraic group if there exist a finite number of
polynomials

b
P,....P.eC[X,. X, X5. X,] such that <a d>eG
.

if and only if
Pa.b,c.d)y="--=P(a.b.c.d)=0.
One of the principal facts in the Picard—Vessiot theory is that the Galois group of a
differential equation is an algebraic group. For a proof in all generality, see the references
cited above. Here we sketch a proof in the special case that we are considering.
Let Y. Z,Y,.Z, be indeterminates over C(x) and consider the substitution
homomorphism

Clx. Y. Z. Y. Z] > Clx.n.C.n'. ']
The kernel of this mapping is a prime ideal p. Any element
ab
A=
(2]
of SL(2) induces an automorphism of C[x. Y. Z., Y|, Z,] over C[x] by the formula
(Y. Z.Y.Z) > (aY+cZ bY+dZ, aY, +cZ, . bY, +dZ)).

Moreover, A€ G if and only if p is carried into itself. The ideal p is finitely generated, say
p=1(q. .. .. 45, where q,. ..., g, are linearly independent over C. Let n be the maximum
of the degrees of q,.....¢q,Iin x, Y, Z, Y, Z, and let V be the vector space over C of all
polynomials in C[x, Y, Z, Y,, Z,] of degree n or less. Evidently the action of SL(2) on
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Clx. Yoz Y Z Jrestricts to VoI gy .. gy, 4g+q. - - . g, 18 a basis of V., then there exist
polynomials P, e L[ Y,. X., X,. X,] such that the result of the action of 4 on g, is

Y Pila.b.c.d)g;.

J=1

It follows that eG if and only if Pja,b.c.d)=0 for i=1.... s, j=s+1.....1
Therefore G s an aigebraic group.

1.4. PROOF

In this section we shall prove the theorem that was stated in 1.2. We shall use several
facts about algebraic groups. Suitable references are Borel (1956), Kaplansky (1957), and
Chapter S of Kolchin (1973). The following result is contained in Kaplansky (1957, p. 31).

LEMMA. Let G be an algebraic subgroup of SL(2). Then one of four cases can occur.

Case 1. G is triangulisable.

Case 2. G is conjugate to a subgroup of

. ¢ 0 0 (')
D" = eC,c
{<0 (‘1> ceC, ¢ #O}u{<_(‘wl 0.

and case 1 does not hold.
Case 3. G is finite and cases 1 and 2 do not hold.

Case 4. G=SL(2).

ceC.c # ()}.

Proof. Denote the component of the identity of G by G . First we note that any two-
dimensional Lie algebra is solvable. hence either dim G = 3 (in which case G = SL(2)) or
else G- is solvable. In the latter case, G is triangulisable by the Lie-Kolchin Theorem.
Assume that G is triangular.

1
If G is not diagonalisable, then G contains a matrix of the form (0 (]I> with ¢ #0

(since an algebraic group contains the unipotent and semi-simple parts of all of its

01
matrix. A direct computation shows that only triangular matrices have this property.
Thus G itself is triangular. This is case 1.

Assume next that G is diagonal and infinite. so G contains a non-scalar diagonal
matrix A. Because G is normal in G. any element of G conjugates A into a diagonal
matrix. A direct computation shows that any matrix with this property must be contained
in D'. Therefore either G is diagonal, this being case 1. or else G is contained in D', this
being case 2.

Finally we observe that if G- is finite (and therefore G = [1}). then G must also be
finite. This is case 3. This proves the lemma.

We shall now prove the theorem of section 2.

Let 4. ¢ be a fundamental system of solutions of the DE and let G be the Galois group
relative to 5. . Set G = C(x)p. 0.

Case 1. G is triangulisable. We may assume that G is triangular. Then. for every

elements). Since G is normal in G, any matrix in G conjugates < ) into a triangular
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o€ G(G/C(x)), an=c,n. where ¢,eC. ¢, #0. Thereforec ow = w, where w = n'/y. which
implies that we C(x).

Case 2. G is conjugate to be a subgroup of D". We may assume that G is a subgroup of
D'. If w=y'/n and ¢ ={'/{. then, for every oeG(G/C(x)), either 6w = w. op=d¢ or
ow = ¢, 6¢ =w. Thus w is quadratic over C(x).

Case 3. G is finite. In this case G has only a finite number of differential automorphisms
Gy 0,. Since the elementary symmetric function of a,7. .. ., 6,5 are invariant under
G(G/C(x)), n is algebraic over C(x). Similarly, { is algebraic over C(x). Because every
solution of the DE is contained in G. every solution of the DE is algebraic.

Case 4. G = SL(2). Suppose that the DE had a Liouvillian solution. Then, as pointed
out in 1.1, every solution of the DE is Liouvillian. Thus G is contained in a Liouvillian
field. It follows that G° is solvable (Kolchin, 1973, p. 415). Since G° = SL(2) is not
solvable, the DE can have no Liouvillian solution.

This proves the theorem.

2. Necessary Conditions

In this section we discuss some easy conditions that are necessary for cases 1, 2, or 3 to
hold. These conditions give a sufficient condition for case 4 to hold (namely when the
necessary conditions for cases 1, 2, and 3 fail). Throughout. we shall consider the DE
yi=ry, reC(x).

2.1. THE NECESSARY CONDITIONS

Since r is a rational function, we may speak of the poles of r. by which we shall always
mean the poles in the finite complex plane C. If r = s/t with s, te C[x], relatively prime.
then the poles of r are the zeros of r and the order of the pole is the multiplicity of the zero
of t. By the order of r at oo we shall mean the order of s« as a zero of r, thus the order of r
at o is deg t —deg s.

THEOREM. The following conditions are necessary for the respective cases to hold.

Case 1. Every pole of r must have even order or else have order 1. The order of r at =
must be even or else be greater than 2.

Case 2. r must have at least one pole that either has odd order greater than 2 or else hus
order 2.

Case 3. The order of a pole of r cannot exceed 2 and the order of r at x must be at
least 2. If the partial fraction expansion of r is

_ &% /J)'“
r= Z‘(x7(,i)2 + Zijd}.

T j X—d;

then (/1+4a,€Q. for each i,y p,=0, and if
7

7 =2 %+ ) .
I t J
then /1+4;€Q.
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2.2. EXAMPLES

Airey’s Equation y” = xy has no Liouvillian solution (i.e. case 4 holds). This is clear
because the necessary conditions for cases 1, 2, and 3 all fail. More generally, " = Py,
where Pe C[x] has odd degree, has no Liouvillian solution.

For Bessel’s Equation

LA —x)
Vi=——ygz ). ne C
(in self-adjoint form), only cases I, 2, and 4 are possible.
For Weber’s Equation
y' = (Gx?—3—n)y, neC.

only cases 1 and 4 are possible.

2.3. PROOF

In this section we prove the theorem of Section 1.

Case 1. In this case the DE has a solution of the form # = e!® where we C(x). Since
0" =ry, it follows that o’ +w? =r (the Riccatti Equation). Both « and r have Laurent
series expansions about any point ¢ of the complex plane, for ease of notation we take
¢=0. Say

w=>bx*+--, ueZ, b+#0
F=ax'+ -+, veZ, o#0.

(The dots represent terms involving x raised to powers higher than that shown.) Using
the Riccatti Equation, we find that

pbxt T 4 BIxE =

As we need to show that every pole of r either has order 1 or else has even order, we may

assume that v< —3. Since «#0, —3=v>=min (u—1.2u). It follows that < —1 and

2u < u—1. Since b?#0, 2u = v, which implies that v is even. For use in section 3.3, we

remark that if r has a pole of order 2u >4 at ¢, then w must have a pole of order y at c.
Now consider the Laurent series expansions of r and w at «c.

w=bx"+--- ueZ, b#0
F=ax"+ -, veZ, a#0.

(The dots represent terms involving x raised to a power lower than that shown. The order
of rat oc is —v.) As we need to show that either the order of r at oc is >3 or else is even.
we may assume that v > — 1. Using the Riccatti Equation, we have

#bxu—1+...+h2x2u+..4:axv+...

Just as above, — I <v<max (u—1,2u), u>—1, 2u>pu—1. Since b2 #0, 2u=v, so v is
even. For use in section 3.3, we remark that if r has a pole of order 2 > 0 at oo, then w
has a pole of order y at oc.

This verifies the necessary conditions for case 1.

Case 2. We analyse this case by considering the differential Galois group that must
obtain. By section 1.4 the group must be conjugate to a subgroup G of D, which is not
triangulisable (otherwise case 1 would hold). Let 5.{ be a fundamental system of
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solutions of the DE relative to the group G. For every e G(G/C(x)). either oy = ¢ 1.
ol=c; 'l or on=—c;'. ol =c,n. Evidently 4°.* is an invariant of G(G/C(x)) and
therefore 77.? € C(x). Moreover, 7{¢ C(x). for otherwise G would be a subgroup of the
diagonal group, which is case 1.
Writing
=]l (x—c)" (e;€2).

we have that at least one exponent ¢; is odd. Without loss of generality we may assume
that

2 = Tl )
and that ¢ 1s odd. Let

0=l /(nd) = 3P /23 = Jex '+ -

where the dots represent terms involving x to non-negative powers. Since y” =ry and

“n -
. =r,

0" +300+0° =4r0+2r.

Let r=ax"+ - - - be the Laurent series expansion of r at O, where % # 0 and ve Z. From
the equation above we obtain

(e—3e* +ged)x P+ =Dx(e 4+ 4

If v> =2, then 0 =8¢ —6¢” +¢* = (¢ —2)(¢—4). This contradicts the fact that ¢ is odd.
Therefore v < —2. f v < —2. then ¢+ v =0. so v is odd.

This verifies the necessary conditions for case 2.

Case 3. In this case the DE has a solution 5 that is algebraic over C(x). 5 has a
Puiseaux series expansion about any point ¢ in the complex plane, for ease of notation we
take ¢=0. Then y=ax*+ ---, where aeC, a#0, ueQ. Since re C(x). r=ax"+ - .
where % # 0 and ve 7. The DE implies that

(= 1ax =24 - =g

It follows that v>—2. i.e. r has no pole of order greater than 2. If v= ~2. then

#(p—1) = . Because pre b, we must have \,x/l +7416Q.
So far we have shown that the partial fraction expansion of r has the form
% i

r=Y 5 4+y Ho4p
T(x—x)° T X —d

where Pe C[x] and \1 +473c,: e Q for each i.
Next, we consider the series expansions about .

’7:(—('\‘11+...~ I’=",‘X'\.+"'
where the dots represent lower powers of x than those shown. From the DE we obtain

p(p—Dax* =4 - = vpax"r 4
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Just as above, we obtain v < —2 and therefore P =0. But
b
B Z (xAC )2 ;x~d}»

S (SR
J

where 7 =) 1,-+Z p;d;. Therefore Z p;=0and p(u—1)=7. Since ue @, \/1+4y€Q.

i J J
This completes the proof of the theorem stated in section 2.1.

3. The Algorithm for Case 1

The first part of this section is devoted to a description of the algorithm. It is somewhat
complicated to describe in full generality, yet, as the examples in part 2 show, it is often
quite easy to apply. The third part is devoted to a proof that the algorithm is correct.

3.1. DESCRIPTION OF THE ALGORITHM

The goal of this algorithm is to find a solution of the DE of the form 5 = Pel®, where
PeC[x] and weC(x). Since # may be written as n=e!" P* this is of the form
described in section 1.2. The first stcp on the algorithm consists of determining “parts™ of
the partial fraction expansion of . In the second step we put these ““parts’ together to
form a candidate for «». The maximum number of candidates possible is 2°*! where p is
the number of poles of r. If there are no candidates. then case 1 cannot hold. The third
and last step is applied to each candidate for « and consists of searching for a suitable
polynomial P. If one is found. then we have the desired solution of the DE. If. for each
candidate for «, we fail to find a suitable P. then case 1 cannot hold.

We assume that the necessary condition of section 2.1 for case 1 holds. and we denote
by I the set of poles of r.

Step 1. For each cel"u {oc} we define a rational function [w/;]c and two complex
numbers % . x. as described below.

C

(¢;) Ifcel and ¢ is a pole of order 1, then

[\/'7](=0. af =a =1

C <

(¢;) Ifcel and ¢ is a pole of order 2, then

[V/"r 1. = 0.

Let b be the coeflicient of 1/(x—¢)? in the partial fraction expansion for r. Then

b=ty 1+ 4b.

(¢;)) Hceland cis a pole of order 2v >4 (necessarily even by the conditions of
section 2.1). then [/ r] is the sum of terms involving 1/(x—c¢)' for 2<i< vin the
Laurent series expansion of , r at ¢. There are two possibilities for N r] one
being the negative of the other, either one may be chosen. Thus

a d

Sel —
[\/ r]( (\(—(’)v + + (_\'—(’)2 .
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In practice, one would not form the Laurent series for \/;, but rather would
determine [\/7]0 by using undetermined coefficients. Let b be the coefficient of
1/(x=¢)"*" in r minus the coefficient of 1/(x—¢)*** in ([\/r].). Then

1 b
=ty
% 2(_a+‘>

(ocy) If the order of r at oc is >2, then

[Vrl, =0, af=0, a;=1

xX X

(oc,) If the order of r at oo is 2, then
[Vr].=0.

Let b be the coefficient of 1/x* in the Laurent series expansion of r at «. (If
r =s/t, where s, t € C[x] are relatively prime, then b is the leading coefficient of s
divided by the leading coefficient of r.) Then

af =141 /1+4b.

(oc3) If the order of r at ¢ is —2v <0 (necessarily even by the conditions of section
2.1), then [Qr]X is the sum of terms involving x’ for 0 <i < v in the Laurent
series for V/Fr at oc. (Either one of the two possibilities may be chosen.) Thus

[\ }T]X =ax"+ - +d.

Let b be the coeflicient of x*~ ! in r minus the coefficient of x* ™! in ([y 11,07

Then
1 b
= +-—v)
. 2<_a )

Step 2. For each family s = (s(¢)).cr ;. Where s(¢) is + or —. let
d=a300— % 459
If d is a non-negative integer. then

s(c)

cell X—cC

is a candidate for w. If d is not a non-negative integer, then the family s may be removed
from consideration.

Step 3. This step should be applied to each of the families retained from Step 2. until
success is achieved or the supply of families has been exhausted. In the latter event. case |
cannot hold.

For each family, search for a monic polynomial P of degree d (as defined in Step 2) that
satisfies the differential equation

P"+20P + (' +w*=r)P = 0.

This is conveniently done by using undetermined coefticients and is a simple problem in
linear algebra, which may or may not have a solution. If such a polynomial exists. then
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n = Pe!” is a solution of the DE. If no such polynomial is found for any family retained
from Step 2. then Case | cannot hold.
3.2. EXAMPLES
Example 1. Consider the DE " = ry where

AN =BT+ 12xt 4N+ 7x7 - 20x +4
B 4x

T-2x43+ : + [ + !
=Xx"—2x -+ — -+ =
x4 X3 x*

r

Since r has a single pole (at 0) and the order there is 4, the necessary conditions of
section 2.1 for case 2 do not hold. Evidently the necessary conditions for case 3 also do
not hold. We apply the algorithm for case 1 to this DE.

The order of r at the pole 0 is 2v = 4. Therefore [\/7]0 =a/x?, and a®> = 1. We choose
a=1,s0 [\/’;]0 =1/x?. b= -~5-0=—5. and therefore 5 = 1(+(—5/1)+2). which gives
% = —3/2 and 25 =7/2.

At ¢, v=1, and [\/;] . =ax+d. Comparing r and [V/r]zf =a*x? 4+ 2adx +d* we sce
that ¢* =1 and 2ad = —2. We choose a=1, d=—1. Thus [\/r], =x—1. h=3—1=2.
and at* =172, 2, = —3/2.

There are four families to consider.

s(0) = +. s(oc) =+, d=12—(-3/2) =2
s(0) = +. s(oc) = —., d=—-32—(-32)=0
5(0) = —, s(x) =+, d=1:.2-772 =-3
$(0) = —. s(x)=-—. d=-32-7/72 =-5

Only the first two remain for consideration.
We shall treat the second family first. since d =0 in that case. The candidate for o is
+
— x - 1 3
w=1[yrlo+ TO —[Vrle = =g XL

2x
We now search for a monic polynomial P of degree 0 such that
P"4+20P + (' +w*—r)P = 0.

Since P =1, the existence of P is a question of whether or not '+ w?—r=0. But the
coefficient of 1/x in @'+ w?—r is —6. Thus no such polynomial P can exist.
The only remaining family is the first family. The candidate for o is

= — /T}e=———+x—1
w [\/;]0+ < +[V7]s < +x
We now search for a monic polynomial P of degree 2 that satisfies the linear differential
equation given above. Writing P = x*+ax+b, we easily determine that a=0, b= —1
provides a solution.

Therefore a solution of the DE is given by

n= Pejm — (XZ_ l)ej(l,/x2—3/(2x)+x—1)

— x°3/2(x2_ l)e—l/x+x3/2*x‘
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Example 2. In this example we begin the discussion of Bessel's Equation

4n? —1
Vo= (WZT - 1) y. neC.

The necessary conditions of section 2.1 imply that case 3 cannot hold. Here we consider
case 1, case 2 is worked out in section 3.2.
The only pole of r is at ¢ =0 and the order there is 2. Thus

W

[Vrlo=0. b=@n’—1)4, a5=1+3/1+4b=1+n

At o, r has order 0 and [\/ﬁr] . =1i. Evidently b=0so 2% =0.
There are four families to consider.

s(0) =+, s(oc) =+, d=—1/2—n

s(0) = +. s(xc) =—, d=—-12—n
s(0) = —. s(x) =+, d=—124n
s(0) = —. s(x) =—. d=—12+n.

A necessary condition that case 1 holds is that — 12 +» be a non-negative integer. i.e.
that n be half an odd integer. We claim that this condition is also suthicient.

If n is negative, and half an odd integer. then m = — [ 2—ne N. This corresponds to the
first family. in which case w = —m/x +i. We need to find a polynomial P of degree m such
that

0=P +20P + (0 +w>—rP

- P”+2( & +i> p-mp
X X

It is straightforward to verify that

L 1 2m—)!
P= - X
Lo (207 !

is the desired polynomial. A solution to Bessel's Equation is given by = x " "P¢'™.

If n is positive, then m= —1/2+n is a non-negative integer. This corresponds to the
third family. In this case w = —m/x +i. and we are back to the case considered above.

Example 3. In this example we treat the general situation where r is a polynomial of
degree 2. We may write r = (ax +d)*+ b for some a. b, de C (« and d are determined by r
only up to sign, we choose either of the two possibilities). We claim that the DE has a
Liouvilhan solution if and only if b/a 1s an odd integer.

The necessary condition of section 2.1 implies that only cases 1 and 4 are possible. We
consider case 1.

Evidently [\/r], = ax+d and 2] = }(£(b/a)—1). There are no poles. Thus d equals
or «, . so one of these two numbers must be a non-negative integer for case 1 to hold. It
follows that h/a must be an odd integer. which is the necessity part of our claim.

For sufficiency. we may assume that h/a = 2n+ 1 is positive, since ¢ may be replaced by
—a. Case | will hold provided that there is a monic polynomial P of degree n such that

0=P'+20P +(v' +w*—=r)P
= P"+2(ax+d)P' —2naP.
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If we write

and substitute. we obtain a system of linear equations in P,..... P,_, (P,= 1) that has a
solution, namely
(7n+l)(1+l (1+2)(1+1)

! n—i U am—iy

where P, =0and P,=1.
A special case of this example is Weber’s Equation

Py (i=n—1....0)

= —1—my. neC.

Here a= —1/2. h=—1/2-n,d=0. Thus h/au=2n+1is an odd integer if and only if n is
an integer.

3.3. PROOF
In case 1, the DE has a solution of the form 5 =e¢'’
have

. with 0e C(x). Since 7" =ry, we

0 +0*=r (Riccatti Equation).
We shall determine the partial fraction expansion of 0 using the Laurent series expansion
of r and this Riccatti Equation.
For ceC. we denote the “component at ¢ of the partial fraction expansion of 0 by

0+ 2 =3

X

.\~()’ —

In order to simplify the notation. we assume that ¢ =0 and drop the subscript 0. We
shall also need to consider the Laurent series expansion of ¢ about 0

= [0+ 0.
AY

Here = *+*x+ - - where the * denotes a complex number whose particular value is
irrelevant to our discussion.

We assume that the necessary conditions for case ! (see section 2.1) are satisfied. in
particular we assume that the poles of r are either of even order or else of order 1. We
split our proof into parts. depending on the nature of r at 0. This parallels the division of
Step 1 of the algorithm.

(¢y) Suppose that 0 is a pole of r of order 1. so r=*/x+ ---. The Riccatti equation
becomes
2
v, a; *
_ ,,‘,I,i+..‘+,‘v+...:ﬁ+...
X X X

Since a; #0. v< 1 and [#]=0.
Substituting 8 = 2/x + 0 into the Riccatti Equation, we have

=
[
[ 3]

— — *
I+ =

X X

X

+ 60+ —

'/
P
]
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Therefore —a+a?>=0, so «=0 or a = 1. Were « =0, the left-hand side of this equation
would have 0 as an ordinary point; however. the right-hand side has a pole at 0. We
conclude that « = 1 and the component of the partial fraction expansion of 8 at 0 is (in the
notation of the algorithm)

-, where 2t = 1.

<%

(¢5) Suppose that r has a pole at 0 of order 2, say

Asin (¢;), [01=0and —a+a> = h. Thus the component of the partial fraction expansion
of #at0is
a

where a* = 1+ 1./1+4b.

“

(c;) Suppose that r has a pole at 0 of order 2> 4. In section 2.3, we showed that
v = u. Recall from section 3.1 that

/o d *
=5+ + 5

where we have dropped the subscript 0" )
Let 7=/r—[/r]. Then r=[/r]*+2F[\ r]+7>. From the Riccatti Equation we
obtain the following formula

(G NG RUEING)

oo = 2o =

(&) = — [0+ 5 =0 = " (0] 2000]
o 200~ o
—;2‘—}'0—92‘}'27'[\/;']'1'7'"

An examination of the right-hand side of this equation determines that it is free of terms
involving 1/x' for i=v+2,...,2 (since v>1). This implies that the left-hand side is 0.
Indeed. since

([O1—[/rD+[01+[/r] = 2[0].

at least one of the factors involves 1/x’. Were the other factor non-zero. it would involve
1/x' for some i>2. The product would then involve 1/x"*' for some i>2. which is
absurd. Hence [0] = + [v/;]'

The coefficient of 1/x**! in the right-hand side of (&) is +vaF 2xa+b. where b is the
coefficient of 1/x**! in 2F[V/;]+F2 =r—[\ﬁ]2‘ Therefore a* =4(+hb’'a+v). We have
shown that if 0 is a pole of r of order 2v > 4, then the component of the partial fraction
expansion of # at 0 is

(¢y) Finally, we must consider what happens when 0 is an ordinary point of r. As in
(¢;)), [01=0 and —x+a*>=0. Contrary to the situation in (c¢,). however. we cannot
conclude that a # 0. Hence the component of the partial fraction expansion of r at 0 is
either 0 or 1/x.
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We collect together what we have proven so far. Let I be the set of poles of r. Then

0-3 (o )+ 3 L

cell i=1 X—

where Re C[x], s(¢) =+ or —, and [vrr]c, a3 are as in the statement of the algorithm.
Next we consider the Laurent series about oc. Suppose that

o4
0=R+2+ -
X

(o0;) If r has order v> 2 at oo, then

* *
r=ot o

+ -

The Riccatti Equation implies that R=0and —x, +%2 =0,s0 «, =0 or 1.
(c0,) If r has order 2 at a0, then
*

o
x? X3

The Riccatti Equation implies that R =0 and —a, +x% = b, hence

x, =1 +1/1+4b.

(oc3) In the other cases. the order of r at o« must be even, by the necessary conditions
of section 2. Following an argument similar to that used in (¢;) we find that

1 b
R==%[r].. A, =5l oy

a

where —2v is the order of r at . « is the leading coefhicient of [V/;]X and b is the
coefficient of 1 x* ™' inr—[ r]3
We now know that the partial fraction expansion of # has the form

- P 1
0="> <s(c‘)[\; Fl.+ — ) +s(0)[\/ r] + Z —_—
cell XN — i=1 X—d;
Moreover, the coefficient of 1/x in the Laurent series expansion of 0 at oc is «**’. Thus
d=o""=% 9eN.

cell

s(()
o= Z (S(C)[\/—] + ) +5(3C)[V/’]x~

cell

Let

and

P = (x d,).

||::..

i

Then 0 = w+ P’/P. Again, using the Riccatti Equation, we obtain
P"+20P 4+ (0w +w*—r)P = 0.

The converse, namely that if P is a solution of this equation, then 6 satisfies the Riccatti
Equation. is a simple verification. It follows that if P is a solution of this equation, then
n = Pel is a solution of the DE " = ry.

This proves that the algorithm for case 1 is correct.
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4. The Algorithm for Case 2

Following the pattern of section 3. we shall describe the algorithm in section 4.1. give
examples in section 4.2 and the proof in section 4.3. The algorithm and its proof assume
that case 1 is known to fail.

4.1. DESCRIPTION OF THE ALGORITHM

Just as for case 1. we first collect data for each pole ¢ of r and also for x . The form of
the data is a set E, (or E,) consisting of from one to three integers. Next we consider
families of elements of these sets. perhaps discarding some and retaining others. If no
families are retained. casc 2 cannot hold. For each family retained we search for a monic
polynomial that satisfies a certain linear differential equation. If no such polynomial exists
for any family. then case 2 cannot hold. If such a polynomial does exist. then a solution to
the DE has been found.

Let I be the set of poles of r.

Step 1. For each cel” we define E, as follows.

(¢;) If cis a pole of r of order 1. then E = 4}
(¢;) Ifcis a pole of r of order 2 and if b is the coeflicient of | (x —¢)? in the partial
fraction expansion of r. then

E.= 24k  1+4blk =042~ 7.
(c3) Ifcisa pole of r of order v> 2. then E, = {v!.
() Ifrhasorder >2 at x. then E, =1{0. 2.4}

(x,) If r has order 2 at s and b is the coeflicient of x~2 in the Laurent series
expansion of r at oc, then

E, =24k, 1+4blk=0.+21n 7.

(% 3) If the order of r at oc is v <2, then E, = [v}

Step 2. We consider all families (¢.).cr.,,, With e.e E.. Those families all of whose
coordinates are even may be discarded. Let

d=1e,— > e
cel’

If d is a non-negative integer, the family should be retained. otherwise the family is
discarded. If no families remain under consideration, case 2 cannot hold.

Step 3. For each family retained from Step 2, we form the rational function

€.

0=15%

cel’ X—C

Next we search for a monic polynomial P of degree d (as defined in Step 2) such that
P +30P" + (367 4+ 30 —4r)P' + (0" + 300"+ 03 —4r — 2r')P = 0.

If no such polynomial is found for any family retained from Step 2. then case 2 cannot
hold.
Suppose that such a polynomial is found. Let ¢ =60+ P'/P and let w be a solution of
the equation
W+ P+ (3¢ +1p?—r) = 0.

Then y = ¢! is a solution of the DE y" = ry.
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4.2. EXAMPLES
Example 1. Consider the DE " = ry where
1 3

X lex?
The necessary conditions of section 2 show that cases 1 and 3 cannot hold. (The order of r
at o is 1.) The only pole of r is at 0 and the order there is 2. The coefficient of 1/x2 in the
partial fraction expansion of r is b= —3/16. Since 2,/1+4b=1 is an integer.
Ey=1{1,2.3]. The order of r at o« is 1 and E,. = {1}.
We have three families to consider.

eo = 2. e=1, d=—-1/2

€y = 3. e=1. d=—1

80:]. €=1. d:()

Only the third family need remain in consideration. For this family. 8 = 1/2x and we need
to find a monic polynomial P, of degree 0, such that

P +30P" + (307 + 30" —4r)P' + (0" 4 300 + 0> —4rt) — 2¥')P = 0.

Evidently P must be 1. so the existence of P is a question of whether or not
0"+ 300"+ 0> —4r0—2r" is zero. That expression does happen to be 0. so P=1 is the
desired polynomiali.

Next we form

The equation for o is

s AR , 1 1
0= (r)“-¢(u+(7<p'+ 3 d)—r> =0T S0t s —
2 2 X S

The roots are

| 1
o) = - i e,
4x SN
N
It follows that
n= ()jm — ("“1 (dx)+ 1 x) ! 4()2\ N

is a solution of the DE. (And x'"*e¢~ 2+ ¥ is also a solution.)

Example 2. In this example we finish consideration of Bessel's Equation

4n* —1
Vo= (4\.2 — 1) v, neC.

that was started in section 3.2. In that section we observed that case 3 cannot hold and
that case | holds if and only if n is half an odd integer. Here we treat case 2 and make the
assumption that n is not half an odd integer.

The only pole of r is at 0 and the order there is 2. Since

20 T+4b =2 1 +4@dn’ —1)4 = 4n.
cither Eq =12} or £, = [2. 2+4n. 2—4n|. depending on whether 4n is an integer or not. If
4n is not an integer. then there is only one case to consider.

eq = 2. e, =0, d=—1.
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Thus if 4n is not an integer, case 2 cannot hold. If 4n is an integer. there are three cases to
consider.

eq =2, e, =0, d=-1
eg=24+4n, e,=0, d=-1-2n
eq=2—4n, e,=0, d=-1+2n

In order that d be a non-negative integer, it is necessary that n be half an integer. Since
n i1s not half an odd integer, n must be half an even integer, that is » is an integer. But. for
such n, both ¢, and ¢, are even. Hence all families are discarded and case 2 cannot hold.

In this example, and in Example 2 of section 3.2, we have shown that Bessel’s Equation
has a Liouvillian solution if and only if n is half an odd integer.

4.3. PROOF

For the proof of the algorithm for case 2 we shall rely heavily on the differential Galois
group of the DE. In case 2. this group is (conjugate to) a subgroup of

o {23

Moreover, we may assume that case 1 does not hold. so the differential Galois group is
not triangulisable. Let #, { be a fundamental system of solutions of the DE corresponding
to the subgroup of D'. For any differential automorphism ¢ of C(x){1. > over C(x).
either on=cn, ol=c ' or an=—c"'{, o{=cn, for some ceC, ¢#0. Evidently
a(n*2) = 23, therefore n%{? e C(x). Moreover, 1 ¢ C(x) since case | does not hold.

We write

ceC, (;&0}

m

=y n (V ¢)< n 7di).llﬂ
cel i=1
where I' is the set of poles of » and the exponents ¢, f; are integers. Our goal is 1o
determine these exponents.
Let

‘7u7 m /l

(&[ N— ~[71 \'*d

¢ =) /) = Y3

vl e

Because ¢ =#'/n+ /¢, it follows that
(*) ¢ +3PP' + ¢ = 4drp+2r,
We first determine ¢, for ceI". In order to simplify the notation. we assume that ¢ = 0.
(c¢y) Suppose that 0 is a pole of r of order 1. The Laurent series expansions of » and ¢
at 0 are of the form
F=oax" '+ (2 #0)
¢ =lex " '+f+ - (eeZ, feC).

Substituting these series into the equation (*) and retaining all those terms that involve
x % and x 2, we obtain the following.

— i —_ S
ex Y4 —geix Y o3e/x i hedx T il

=2aex 24 —ax P4
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Therefore e—2e2+1e3=0, so e=0,2,4. Also —3ef+3e*f=2ae—a. Because a#0,
e #0, 2. Hence, ¢ must be 4.

(¢,) Suppose that 0 is a pole of r of order 2 and that b is the coefficient of 1/x? in the
Laurent series for r. That is

r=bx"24 -, ¢ =1lex 14---
Equating the coefficients of x "2 on the two sides of equation (*), we obtain
e—3e?+1e3 = 2eb—4b.

The roots of this equation are e =2, e =2+2./1+4b. Of course, the latter two roots may
be discarded in the case that they are non-integral.

(c;) Finally we consider the possibility that O is a pole of r of order v>2. Then
r=x""+---and ¢ =1ex '+ . Equating the coefficients of x™*7! in (*) we obtain
0= 20e —2av, hence e = v.

In determining the exponents f; we may use the calculation of (¢,) above if we replace «
by O (since d; must be an ordinary point of r). We find that f;=0, 2, or 4. We cannot
exclude the possibility that f; = 2, but we can, of course, exclude the possibility f; =0.

We have shown so far that

N =[] (x—o P,

cel

where ¢, € E, (as defined in section 4.1) and Pe C[x].

Set =1 — . so ¢=0+P/P.
celr X—C

The next step in our proof is to determine the degree d of P, which we do by examining

the Laurent series expansion of ¢ at oc and using equation (*).
p=le . x "+, e =) e+2d.
cel

(o0,) Suppose that the order of r at oc is 2. As in (¢;) we find that e, =0, 2 or 4.

(c0,) Suppose that the order of r at oc is 2 and that b is the coefficient of x 2 in the
Laurent series expansion of r at oo. Then, as in (¢,), e, =2, 2+2,/1+4b and ¢, is
integral.

(oc;) Suppose that the order of r at oo is v < 2. As in (c3), it follows that e, = v.

Note that at least one of the ¢, (ceI') is odd, since (¢ C(x).

Using equation (*) and the equation ¢ =6+ P'/P, we obtain

P +30P"+(30% +360'—4r)P'+ (0" + 300"+ 6° —4r —2r)P = 0.

This is a linear homogeneous differential equation for P, so there is a polynomial solution
if and only if there is a monic polynomial which is a solution.
Now let @ be a solution of the equation

(¥*) w*—po+i¢ +1p>—r=0.

To complete the proof we need to show that n = el is a solution of the DE y* =ry.
From (**) we obtain (by differentiation)

Qo=@ = go—1¢"— ¢ +r.
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The factor (2w — ¢) cannot be zero. Indeed. if ¢ = 2w. then ' +w? —1 =0 (from (**)) so
n=el“ is a solution of the DE. But w = ¢ e C(x). This is case I. which was assumed to
fail. Using (**) and (*) we have

2Qo—P) ' + 0 —r)= —¢" =3pd' — P +4rdp+2r = 0.

Thus o' +w? = r so 1 =¢'° is a solution of the DE.
This completes the proof that the algorithm for case 2 is correct.

5. The Algorithm for Case 3

Following the pattern established in the previous two sections, we describe the
algorithm in section 5.1 and give examples in section 5.2. The proof of the algorithm
requires a knowledge of the finite subgroups of SL(2) and their invariants. which is
provided in section 5.3. The proof of the algorithm is presented in section 5.4.

In case 3. the DE has only algebraic solutions and we assume that cases 1 and 2 are
known to fail. (It is possible for the DE to have only algebraic solutions and for cases 1 or
2 to apply. For example, case | gives the solution #=x"* to the DE "= — (3 16137y,
then reduction of order gives { = x** as a second solution.)

5.1. DESCRIPTION OF THE ALGORITHM

Let 5 be a solution of the DE y" = ry and set w = y'/yy. Then, as we shall show in section
5.4, w 1s algebraic over C(x) of degree 4, 6 or 12. It is the minimal polynomial for ¢ that
we shall determine. We are unable to determine the minimal equation for » (which would
be of degree 24, 48 or 120).

There are two possible methods for finding the minimal equation for ¢. We could find
a polynomial of degree 12 and then factor it. We shall prove that if o is any solution of
the 12th degree polynomial found by our method. then 5 =¢'” is a solution of the DF.
hence any one of the irreducible factors may be used. This is the most direct method:
however. the factorisation can be a formidable problem. even with the assistance of a
computer. We illustrate this by example. in section 5.2, The alternative is to first attempt
to find a 4th degree equation for . then a 6th degree equation and finally a 12th degree
equation. The advantage is that if an equation is found. then it is guaranteed to be
irreducible.

In our description of the algorithm, we shall combine the various possibilities. denoting
by n the degree of the equation being sought. As before, we denote by I the set of poles of
r. Recall that, by the necessary conditions of section 2, ¥ cannot have a pole of order >2.

Step 1. For each cel" U |} we define a set E, of integers as follows.

(¢;) If ¢ is a pole of r of order 1. then E = {12}.

(¢,) If ¢ is a pole of r of order 2 and if x is the coefficient of 1/(x—¢)? in the partial
fraction expansion of r, then

b S—
E = {6+~\,*1+411k =0. £l £2... . % ’;}mz,
n 5

(oc) If the Laurent series for r at o 1s

F=yx""4+--- (yeC. possibly 0).
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then
12k ——r n
E,=964 0 (I+d k=021 42+ »nZ
2] L

Step 2. We consider all families (¢.)..r ., such that ¢.e E.. For each such family, define

n
d=-—(e,—) e).
(e =2
If d is a non-negative integer. the family is retained. otherwise the family is discarded. If
no families are retained, then w cannot satisfy a polynomial equation of degree n with
coeflicients in C(x).
Step 3. For each family retained from step 2, form the rational function

_n e,
RS x—c
Also define
S=1] (x—o).
cel

Next search for a monic polynomial PeC[x] of degree d (as defined in step 2) such that

when we define polynomials P,. P, |, ..., P_, recursively by the formulas below. then
P_, =0 (identically).
P,=-P
P ==SP+({(n—)5 =SOP;—(n—i)(i+ 1)S*rP,,,

(i=nn-—1,...0).

This may be conveniently done by using undetermined coefficients for P. If no such
polynomial P is found for any family retained from step 2. then w cannot satisfy a
polynomial equation of degree n with coefficients in C(x).

Assume that a family and its associated polynomial P has been found. Let « be a
solution of the equation

!
;. SfP#— w'=0.
i=o (n—i)!

Then 7 =¢'* is a solution of the DE.

5.2. EXAMPLES

Example 1. Our first example illustrates the alternative technique mentioned at the
beginning of the last section, namely to bypass the search for equations of degrees 4 and 6
for » and proceed directly to the search for an equation of degree 12.

We consider the hypergeometric equation y" = ry where

3 2 3
o S+ - .
16x<  9(x—1)"  16x(x—1)

Fo= -

The necessary conditions of section 2 show that all four cases are possible.
Applying the algorithm for case 1. we find that

ay = 34, % = 1/4
x =23, x =1/3
ar =273, x, =1/3.

X x

and d =2 — x5 —a can never be a non-negative integer. Case | fails.
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Applying the algorithm for case 2, we find that

Eo={2.3.1}
E = {2}
E. = {2},

and d = e, —e,—e, can never be a non-negative integer. Case 2 fails.

We apply the algorithm for case 3, searching for an equation of degree 12 for w, thus
n =12 in the algorithm.

At c=0, a=—3/16 and /1 +4a=1/2 (or —1/2). Hence E,= {3, 4, 5, 6, 7, 8, 9}. At
c=1,a=—-2/9and /1+40=1/3.S0 E; ={4,.5,6,7,8}. At oc. y=—2/9 and E, = {4,
5,6,7,8}.

Following the instructions of step 2, we now form the expression d =e¢, —e¢,—e, for
every choice of e € E, eo€ Ey, e, € E;. We discard those families for which d is a negative
integer. Only four possibilities remain.

e, =7, e =3, ¢ =4,

e, =8, e=3 e =4,

e, =8, e=3 e =5,

U o” o

0
1

0
0.

e, =8, e,=4 e =4,

We now consider the first possibility, following step 3. We set 0 =3/x+4 (x—1).
S = x?—x. and search for a monic polynomial P of degree 1 that satisfies the conditions
given in step 3. Of course, P=1.

The computations are far too complicated to be accurately done by hand: however.
they are easily programmed into a computer. Since P; is always a polynomial
(i=12,..., —1) whose degrec is easily predicted (in this example deg P; = 12—1i) arrays of
coefficients may be manipulated to carry through the computations. In order to avoid
roundoff error, we computed 12'27'P; using 33 digit integer arithmetic. The results
follow.

P,=—1
P,,=7x-3
Py = (1/12)(—536x>+459x—99)
Py = (3!/(3-12%))(18544x> — 23799x% + 10260~ — 1485)
Pg = (4!/(16-122))(— 127488x* +217972x> — 140879x2 + 40770x — 4455)
P, = (5!/(2:12%))(174080x° — 371748 x* 4+ 320305x> — 138975x7 + 30375x — 2673)

Py = (6!/12%)(—8257536x° +21145136x° —22757500x* + 13168377x"
—4318083x% +760347x —56133)

Py = (7!/(2:12%))(7929856x7 — 23673984x° + 30564708 x> — 2210728 7x*
+9668646x> —2555280x7 + 377622x —24057)

P, = (8!/(16-12%))(—26421152x® +900984832x" — 1356734768x° + 1177673400~
— 644082327 x* 4 227124972x* — 50398362x7 + 6429780x — 360855)

Py = (9!/(3-128))(174483046x° — 6688997376x® + 11509039440x7 — 11656902 184x°
+7654170465x° —3376695033x* + 1000183626x* — 191681802x7
+21552885x —1082565)
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P, = (101/(2:12°))(—2281701376x° +9713634848x° — 18799438080x*
+21766009616x7 — 16683774768x° + 8840413683 x>
—3277319535x* +838780110x° — 141739470x2 + 14270175
—649539)

Py = (11!/12'°)(1342177280x' " —6282018816x'° + 13507531776x° — 17598922384 x®
+ 154268489527 —9546427017x° +4252638672x° — 1362816657 x*
+307684656x" —46576539x% +4251528x — 177147)

Py = (121/12"2)(—8589934592x1? 4+ 43838865408x ' ! — 103681720320x°
+150145637824x° — 148170380976x% + 104901110964x7
—54596424249x° — 21032969490x° — 5948563455x*
+1203654816x3 — 165278151x2 + 13817466x — 531441)

P =0
Therefore 1 = ¢!® is a solution of the DE. where w is a solution of the equation

2 (x?—x)P, |
' =0.
i=o (12—0)!

Professors Caviness and Saunders of Rensselaer Polytechnic Institute kindly offered to
attempt a factorisation of this polynomial for w. They used the exceedingly powerful
system for algebraic manipulation called MACSYMA at MIT. The program took less than 5
minutes to write but took 3 minutes of CPU time to execute. The result is that the
polynomial above is the cube of the following polynomial.

(x2 =)o —(13)(x? = x)(Tx = 3)w3 4+ (124)(x* — x)2(48x? — 41 x + 9)w?
—(1432)(x? = x)(320x* —409x> + 180x — 27)w
+(1:20736)(2048x* —3484x3 +2313x2 — 702x + 81 )

Example 2. In this example we consider the DE y” =ry, where
_ Sx+27
o 36(x—1)7

The necessary conditions of section 2 show that all four cases are possible.
Note that the partial fraction expansion of r has the form

2 2
TG T T T

and the Laurant series for r about oc is

T T 36 T
Applying the algorithm for case 1 we find that
at, =2/3, a_, =1/3
al =2/3, ay = 1/3
al =5/6, a, = 1/6.

For no choice of signs is d = aZ —a®; —af a non-negative integer, thus case 1 cannot
hold.
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Applying the algorithm for case 2 we find that E_, = E, = E, = {2}. and case 2 does

not hold.
We now apply the algorithm for case 3. attempting to find an equation of degrec 4 over

C(x) that is satisfied by w.
From step 1 we have that

E ,=14.4.6.7.8)., E, =1{4.56.7.8 and E, ={2.4,6.8.10).

There are four families with the property that d =4(e, —e_,—e,) is a non-ncgative
integer, namely
e, =8, e_, =4, e, =4, d=0,

e, =10, e ;=4 ¢, =6. d=0.
e, =10, e_,=5 ¢ =5 d=0.
e, =10, e, =6, e, =4 d=0.

x

Il

The first possibility gives
0= bt + - hS = 8\ e
3\x+1  x-—1 I(x=—1)

Setting S = x> — 1. we have S0 = §x. $%r = —(5x*+27). We then have
P,=-1
P, = (8/3)x
P, =—(1/3)(15x*+1)
P, = (1/9)(50x3 + 14x)
Py = —(1/58)(125x* + 134x2 — 3)
P =0

Let w be a solution of the equation
St = $xSw? — L1552 + DS®? +35(25x3 + 7x)Sm — 5o 125x7 4+ 13437 = 3).

If we make the substitution 6Sw = = +4x, the equation simplifies to

=6 = Dz —8x (P = D43 = 1),
Then A
n=e=(r=1"Yexp(f(z (x* 1)) dy)

is a solution of the DE.

5.3. FINITE SUBGROUPS OF SL(2)

In this section we determine the finite subgroups of SL(2). up to conjugation. and their
invariants. This work is classical, being found in the work of Klein. Jordan and others.
For the sake of completeness we sketch the results here in the form needed in the
subsequent section.
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THEOREM 1. Let G be a finite subgroup of SL(2). Then either

() G is conjugate to a subgroup of the group

D'=D 01'D
—u~10 .

where D is the diagonal group. or
(i) the order of G is 24 (the “tetrahedral” case), or
(iii) the order of G is 48 (the “octahedral” case), or
(iv) the order of G is 120 (the ““icosahedral™ case).

In the last three cases G contains the scalar matrix —1.

The geometric names were used by Klein; however, our proof will be entirely algebraic.

Proof. We assume that G is not conjugate to a subgroup of D*. Let H be the set of
scalar matrices in G. thus H= {1} or {l. —1}. so the order of H is 1 or 2. For any
xeG—H (t.e. xe G and x ¢ H) we denote by Z(x) the centraliser of x in G and by N(x) the
normaliser of Z(x) in G.

Let xe G—H. Since x is of finite order, v is diagonalisable. (The Jordan form of a non-
diagonalisable matrix in SL(2) must be + 0
diagonal non-scalar matrix is D (by direct computation) Z(x) must be the intersection of
G and a conjugate of D. Hence Z(x) = Z(y) if and only if v e Z(x). Using this fact and the
fact that Z(gxyg ') =¢Z(x)y ' we may conclude that (for arbitrary x. y. g. ¢’ € G) either

gZ(N)Yg g Z(ng Tt =H or gZ(xly ' =g Ziy)y !

1 , L
l).) Since the centraliser in SL(2) of a

and in the latter case yey' 'gZ(x)g "'y’ In addition gZ(x)g ' = g'Z(x)y’ ' if and only if
g “'ge N(x). Therefore we may write G as a disjoint union

U J@Zx)g "' —H)UH (disjoint),

where the inner union is taken over all cosets ¢ N(x,) in G/N(x,). s is some natural number
and x;.....x,eG—H.

The group N(x;) is easy to describe since x, is diagonalisable. First note that the only
matrices in SL(2) that conjugate a diagonal non-scalar matrix into a diagonal matrix are
the matrices in D' (by direct computation). It follows that N(x;) is the intersection of G
and a conjugate of D', in particular the index of Z(x,) in N(x;). [N(x,): Z(x,)]. is either 1
or 2.

Let M =ord (G H) and ¢; = ord (Z(x;)/H). The representation of G as a disjoint union
gives the following formulas.

M-ord H = V [G:N(x)](¢; - ord H—ord H)+ord H.

or
s M
M=y 7 (e,—1)+1.
,"/:_‘1 [1\[(,\'[) . Z(\‘)J e ( )
or | \ | |
— =y - ~ —1 l.
(#) V=L Nz (L)’_ >+
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Certainly s # 0 since G # H. If s=1, then
I/M = 1/([N(x,): Z(x,)]e,) = 1/ord (N(x,)/H), so G = N(x,).

This contradicts the fact that G is not conjugate to a subgroup of D",
Since e; =2 (i=1, ..., 5) we have
0< 1 <1-1 i )
M i=1 [N(x): Z(x)]
s 1
2 N Z0] <

[N(x):Z(x))] =1 or 2,

SO

Because

there are only three solutions of this inequality.
s=2, [N(x):Z(x)]=1, [N(x):Z(xy)]=2
s=2,  [N(x)):Z(x)] = [N(xy): Z(x;)] = 2,
s=3. [N(x):Z(xy)] = [N(x3): Z(xy)] = [N(x3): Z(x3)] = 2.
For all solutions [N(x,):Z(x,)] =2. Thus G contains a conjugate of a matrix in

. . . 0 .
D'—D, i.e. the conjugate of a matrix of the form < i 8) The square of such a matrix
—c

is —1. Hence ord H = 2.

The first solution gives 1/M = 1/e;+1/(2¢,)—1/2. s0 ¢, =3, ¢;=2 and M =12, so
ord G = 24. (The point being that M > 2e,. since G is not conjugate to a subgroup of D,
and therefore e, > 3.)

The second solution gives 1/M = 1/(2¢,)+1/(2¢,). which is impossible since M > 2e,.

The third solution gives

2 1 1 1

—=—+—+ 1
M e ¢, ¢

Assuming that ¢, < e, < e, we find that ¢, <3 so ¢, =2 and
2 1 1 1

M e, + ey 2
Also e, =3 since M > 2e,. The solutions are
e, =2, e;=3, e;=3 M=12, ord G=24,
e;=4, M=24, ord G=48,
e;=5 M=60, ord G=120.

This proves the theorem.
In the following sequence of theorems we shall explicitly determine the three
“geometric” groups. To that end we need the following lemma.

LEMMA. Let G be a finite subgroup of SL(2, C) that is not conjugate to a subgroup of D*. Let
H={1, —1}. Then G/H has no normal cyclic subgroup.

Prook. If xH is a generator of a normal cyclic subgroup of G/H then the group generated
by x and —x is diagonalisable. Since this group would be normal in G, G would be
conjugate to a subgroup of D".
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THEOREM 2. Let G be a subgroup of SL(2, C) of order 24 that is not conjugate to a subgroup
of D'. Let H= {1, — 1}. Then G/H is isomorphic to A,. the alternating group on 4 letters.
Moreover, G is conjugate to the group generated by the matrices

E 0 1 1
Gy o

where ¢ is a primitive 6th root of 1 and 3¢ =2¢—1.
PROOF. Since ord G/H is 12, and because of the previous lemma, G/H has 4 Sylow
3-groups, and G/H acts by conjugation on the set of these Sylow 3-groups. This action
induces a homomorphism G/H — S, (the symmetric group on 4 letters). The subgroup of
the image consisting of those permutations that leave a particular Sylow 3-group fixed
must have index 4 since G/H acts transitively. Therefore the order of the image is divisible
by 4. It follows that the order of the kernel is 1, 2 or 3. By the previous lemma, the order
“of the kernel must be 1, so G/H is isomorphic to a subgroup of S,. Now consider the
composite homomorphism G/H—S,—{1. —1}. with the last arrow being given by
o —signum (o). By the previous lemma, G/H cannot have a normal subgroup of order 6
(since a subgroup of order 6 contains a unique subgroup of order 3 which would be
normal in G/H). Therefore the composite homomorphism has trivial image and G/H is
isomorphic to A,.

Let 7:G— A, be a homomorphism with kernel H. Let Aet ™ '(123). We may conjugate
G so that A4 is a diagonal matrix. Thus

(0
(3 0)

Since tA*=(1), A*cH. However, t4 #(1) and 14%+# (1), thus A¢H and A%¢H.
Replacing 4 by — A. if necessary. we may assume that ¢ is a primitive 6th root of 1.

Let Bet™1(12)(34). Since t(AB) # t(BA), B cannot be a diagonal matrix, i.e. not both
By, and B, are zero. In fact neither is zero because if one were zero and the other non-
zero, then B would have infinite order.
¢

We may conjugate G by <0

0
d) without affecting 4. If we choose ¢ = B,, and d = 2B, ,.

B- (‘f’ v )
2y —x
Now tB? = (1) so B’c H. A direct computation shows that y = ¢.

Next we observe that 1(BA?) = 1(4B)* so BA? = +(AB)*. We perform the computation
and discover that ¢(¢*—1) = +&* (using the fact that  #0). Replacing B by —B, if
necessary, we may assume that ¢(&*—1)=¢*, hence 3¢ =2¢—1 (using the relation
22 4
=<,

Next we use the fact that det B=1 to obtain the formula ¢>+2y2= —1, or

then B has the form

. 1 0 .
3y = +(2¢—1). If necessary, we conjugate G by (0 1) so that 3y =21 = 3¢. This

proves the theorem.
The group of this theorem is called the tetrahedral group.
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THEOREM 3. Let G be a subgroup of SL(2) of order 48 that is not conjugate to a subgroup of
D'. Let H={1.—1}. Then G/H is isomorphic to S,. the symmetric group on 4 letters.
Moreover, G is conjugate to the group generated by the matrices

0 Pl
6 ) o)

where & is a primitive 8th root of 1 and 2¢ = (S + 1).

PrOOF. Since ord G/H =24, and because of the previous lemma, G/H has 4 Sylow
3-groups. The action of G/H on the set of Sylow 3-groups (via conjugation) induces a
homomorphism G/H —S,. The image contains a subgroup of index 4. namely the
subgroup of permutations leaving a particular Sylow 3-group fixed. since G/H acts
transitively on the set of Sylow 3-groups. Hence the order of the image is divisible by 4. so
the order of the kernel is 1, 2, 3 or 6. Were the order of the kernel 6. then the kernel
would contain a unique subgroup of order 3 which would be normal in G. This
contradicts the lemma. Indeed, the lemma implies that ord ker = 1, so G/H 1s isomorphic
to S,.

Let 7:G—S, be a homomorphism with kernel H and let Aet '(1234). We may
conjugate G so that A4 is a diagonal matrix

:0
= o)

Since tA* = (1). &* = + 1. However. were >* =1, then &> =+ 1 and 4°e H. But 4% # (1).
Hence ¢ is a primitive 8th root of 1.

Let Bet '(12). Since t(4B) # t(BA4). B cannot be a diagonal matrix. thus not both By,
and B,, are zero. In fact. neither is zero since B has finite order. We may conjugate G.

. . . 0N R ,
without disturbing 4. by ‘ . where ¢* = B,, and d- = B;,. Then B has the form
0 d '

(0 V)
Vo=
Using the fact tB? =(1). i.e. B*e H. we obtain easily that y = ¢.
Because 1(BA*) = 1(AB)*. BA® = +(A4B)*. Making this computation. and using the fact
that ¥ #0. we find that ¢ —1)=+E. or 2¢ =+ (2 +1). Replacing B by — B, if

necessary. we may assume that 2¢ = 2(3? 4+ 1). Then 2¢7 = — 1. Now we use the fact that

SR > . . 10
I =det B = —¢*—y° to conclude that 2y = — 1. Conjugate G. if nccessary. by (0 l>
so that y = ¢.

Because 1A4. 1B generate S, and the group generated by A. B contains H. we can
conclude that A4, B generate G. This proves the theorem.
The group of this theorem is called the octahedral group.

THEOREM 4. Let G he a subgroup of SL(2) of order 120 that is not conjugate to a subgroup
of D'. Let H={1.—1}. Then G/H is isomorphic to As, the alternating group on 5 letters.
Moreover. G is conjugate to the group generated by the matrices

b 6o

where & is a primitive 10th root of 1, 5¢ = 33— &2 +45—2. and 5S¢ = S+ 352 =25+ 1.
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PrOOF. The proof that G/H is isomorphic to A; may be found in Burnside (1955, 127,
p. 161-2).

Let 7:G— A5 be a homomorphism with kernel H and let Aet 1(12345). We may
conjugate G so thdl A 1s a diagonal matrix

S0 , . . . .
4= <0 :_1>. Since t4% =(1). "=+ 1. Replacing 4 with — A. if necessary. we may

assume that ¢3 = — 1. Evidently & is a primitive 10th root of 1.
Let Bet~'(12)(34). As in the proof of Theorem 3. we may assume that B has the form

)

Because ©(A4*B) =1(BA)?, A*B = +(BA)>. Making this computation we find that
GUI+EY) = £&* or 5¢ = +(38% — 2 +4& - 2). Replacing B by — B. if necessary. we may
assume that the plus sign obtains. Now we use the fact that 1 = det B to conclude that

1 0\ . .
S = +(E+357=2E+1). Conjugate G by <() l>' if necessary. so that the plus sign

obtains.

Note that t4. 1B generate A,. (This group generated by 74 and tB contains an
element of order 5, an element of order 2 and an element of order 3. Thus the order of this
group is divisible by 30. Since Aj is simple, this group must be Ajs.) Also the group
generated by A, B contains H. Therefore A, B generate G. This proves the theorem.

The group described in this theorem is called the icosahedral group.

For use in the next section, we also need to know the invariants of the three
“geometric” groups.

THEOREM 5. Let G be the Galois group of the DE ' =ry and let n. < be a fundamental
system of solutions relative to the group G.
(i) If G is the tetrahedral group, then (n* +8y.%)% e C(x).
(it} If G is the octahedral group, then (n°; — %) € C(x).
(iit) 1f G is the icosahedral group. then n''{ —11n°2° —y e C(x).

Proor. (i) Consider the tetrahedral group, using the notation of Theorem 2. Recall that
F=—1 & =5—1and 3¢p =20~

<

. L . 0 i 1 I
n* 487 is carried into E*(n* +85C?) by the matrix <O . 1>, The matrix ¢ (2 1)
carries )
T80 = - (+20) - (n+28%0) - (n—220)
mnto
P +20) - 3pn - P25 = D1 —280) - p(1—28)n+2E20)

=3t QI 1) (g 8p0Y)

= =3 (=13 (=3) (7" + 8% = n*+ 853,
Thus (*+8»*)* is an invariant of G and therefore is in C(v).

(i) Consider the octahedral group. using the notation of Theorem 3. Recall that
= —1land 2¢ = I+ 1).
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0 1 1
n*—n® is carried into E*(n*(—nl®) by the matrix (g :_1>. The matrix d)(l 1)
¢ _

carries
L=l =00+ 0 (=0 -+ (= &)
into
d+0) - (=) 20020 (1 + &) —E20) - p(1 = EH(n +E20)

=4-¢° (1% (1’ —nl®)

=8 (=12 (0’ =nl®) = —(*L—n).
Thus (7% —»n(%)? is an invariant of G and therefore is in C(x).

(iii) Consider the icosahedral group and use the notation of Theorem 4. First we collect
some easily derivable formulas.
5=—l. 64:£S_éz+5_1
5d>2=cf3—§’2—3 Sy =342,
Sy = 282282 =1 = 5>~y

TN

- \

The matrix <(§ 501) carries 7' 10— 117°¢® —n{*! into itself. The matrix <¢ B ,)carries
MO =t =l (2 == ) (PP S+ E)
(= =) - P+l =83 (P =+ 80
into
dYn* —nl =) Spynl (= n* =i =283 (EH* + I+ 20
(= D+ =223 (D =i+ 33

= 5 (GY)* (- 1O ) = = T =

Thus 7' —11#°° =y is an invariant of G and therefore is in C(x).
This proves the theorem.

5.4. PROOF OF THE ALGORITHM

We must prove the validity of four scparate algorithms. We must show that the
algorithms for finding a 4th, 6th and 12th degree equation for « are correct for the
tetrahedral. octahedral and icosahedral groups and that the equation obtained is
irreducible, and finally that the algorithm for finding a 12th degree equation is ali-
inclusive (although the equation obtained need not be irreducible). In so far as is possible,
we carry out the proofs simultaneously.

We begin by showing that the equations obtained for w in the tetrahedral. octahcdral
and icosahedral cases are minimal. Throughout we assume that the Galois group G of the
DE " =ry is the tetrahedral. octahedral or icosahedral group. We also fix a fundamental
system of solutions #. ¢ of the DE relative to the group G and set w =#"'n.

THEOREM 1. Let y, be any solution of the DE and let v, =11/n,.
(i) If G is the tetrahedral group. then

deg v, =4 and deg, v =4
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(ii) If G is the octahedral group, then
degegw, =6 and deg. o =6.
(iiiy 1f G is the icosahedral group. then

degoyw; =12 and deg. o = 12.
s

. 20 . o
ProOOF. Since w is left fixed by the group G, generated by (6 .- 1>, where ¢ is a primitive

6th. 8th or 10th root of 1 in the tetrahedral, octahedral or icosahedral cases. the degree of
w over C(x)is <[G:G,]=4. 6 or 12. The reverse inequality is proven more generally. as
indicated in the statement of the theorem.

Let G, be the subgroup of G that fixes ;. Complete y, to a fundamental system of
solutions #,, ¢, of the DE and conjugate G to XGX ! so that XGX ™' is the Galois
group of the DE relative to 5., ¢,. Then XG,X ' consists of matrices of the form

<( - 1>' Since XG,X ' is finite. d =0 and ¢" = 1. where m is the order of G,. Evidently

0 ¢
('mzl}

XG,X ™' is a subgroup of the cyclic group
¢ 0
0 ¢!
and therefore is cyclic. Hence G,/H (where H is the centre of G) is isomorphic to a cyclic
subgroup of A, in the tetrahedral case. of S, in the octahedral case. and of A in the
icosahedral case. So ord G, H <3.4.5 or ord G, <6. 8. 10. Thus

deg. o, =[G:G,] >4.6.12.

This proves the theorem.
Throughout the remainder of this section we shall be considering a certain differential
equation written recursively, namely

n:_l

(#), 4y =—a;—za;—(m—i)i+ Uyra;,, (i=n,....0)

a

By a solution of (#), is meant a function = such that when a,.....a_, are defined as
above, then a_, is (identically) zero.
THEOREM 2. Let = be a solution of (#),. and let «» be any solution of

n—1
a:
(Un = ';l"f" .
i=o (n—0)!

Then n=e!” is a solution of the DE " = ry.

i

Proof. Let
n—1 da. . n a. )
A=—uw"+ L owi= oyl (go=—1),
,-:ZO (n—1o! o (n—10)! (@ )
where w is an indeterminate. We claim that
~k+ 1 Nk +1 ~k Nk — 1
( A ( ; A A
S W) = e (20w +2] i tkn=k+ D) o (k=001
w cwk Ox n Cu

5
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For k=0, we have

CA 2 (< ,,,’fiﬁ_ - o
o (n r)—-(iz e ,)'w )(u r)

=1

b g . "‘1(1+1)1a+
= na, “"+1+ ‘,l+l* i+1
Z (n—i! ,,ZO (n—1—1i)!
Yn— “(n—i)i+ Dra, .
=nwAd — Z( (n—i)i+ Drag.,
('1—1)' S (=)
a,,_la . A2 PR .
=nmwA+a,_A— CRILEPVY! S N S wi
1 Z (’1_1)1 ZO (ll l)'

n (rl—l)(l—ljl ra; .

S

i=0 (n—1i)!
= (nw+2)A — 2 1)’[_ A =D+ Dras e w
i=0

L " a; ; o
= (mw+:)4 +'ZO o = (nw+2)4+ L
Our claim now follows by induction.
To show that 5 = el is a solution of the DE is equivalent to showing that ' + > =r.
We assume that ' +o? —r # 0 and force a contradiction.
Since A(w)=0. we have

- -

; A
(1 (w)w' + (A () = 0.
ow X
Therefore
‘A ) , CA A
oW teT=r)=— _ (@+no+)A0)+ - (o) =0.
w X AN
Hence
CA
(, {) =0.
) ‘w
Assuming that
(*I\14( ) {".kA() 0
PRI W= Cwk =
we have .
d (11.14 (1k+14 ) (ﬁl\+1A
0 = d{ }*“’k ((U)> = (,‘\ TEa) ((!))(l) + A(‘i"“k.ﬁ\ji ((1)).
Thus
"l\+ 1 A ) ,
okl ()W +w=—r)
('3k+1A Ak + 1 PkA '\k~14
= i (W+ - (+[(n—2Kw+: Ak (w)+k(n—k+ 1) e (w)
w* Ox w* Ox
= (),
SO

Nkt
( 1

et () =0
(‘\“Jx*- 1 (
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The desired contradiction follows from the fact that

An

— o (y=—n!#0.
cw

This proves the theorem.

THEOREM 3.

(i) Suppose that (#), has a solution ze C(x). Then the polynomial

3
-X .

0 (4— )”'

is irreducible over C(x).

(i1) Suppose that (#), has a solution € C(x). Then the polynomial

W i:Zo (6—‘}57 wetln]

is irreducible over C(x).

(iii) Suppose that (#),, has a solution ze C(x) and that (#), and (#), do not have
solutions in C(x). Then the polynomial

N a;
wlﬂiigo(liii ’) RS E(E [“]

is irreducible orer C(x).

ProOOF. By Theorems | and 2. any root of the polynomial

n—1 a; .
W Z _,J,' \ W' ((I,-EC(,\'))

o (n—1i)!
must have degree 4. 6 or 12 over C(x). Statement (i) of the present theorem is clear.
Statement (ii) follows from the fact that if a sextic is reducible. then one of the factors has
degree <3. To prove (iii) it suffices to show that if deg. ,,» = n. then (#), has a solution
e C(x).
Let Ae C(x)[w] be the minimal polynomial for w over C(x). Let deg,.A = n and write

n (l
=—n"+ — W' = —— ow' (g, =—1).
Z 1—1)' ,Zo (n—i)! (

Consider the polynomial
CA o (A
B=_(r—w9)+ . +(hw+2)A,
W X
where
z=a, ;eC(x).
n+ 1

The coeflicient of w n Bis

—nd,+na, = 0.

and the coeflicient of w" in B is

[}
Il
=

== Da,_+ay+na, +za,=d,_ , —
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since a, = — 1 and a,_, = z. Therefore deg,. B <n. But
cA ,. (A
B(w) = — (0)r—w)+ () +(hw+2)A(w)
Cw Cx
d
= dv (A(w) + (nw+2)A(w)

Therefore B=0. The coefficient of w' in B is

. i+ . di—y a; di- a;
0=(i+1) & (i—1) B
e 1Y L U Vi B B PR iy Y Bl Py

1
=—— [(n—0D(+ Dra;, , +a; | +a;+:za].
(n—1i)!
where a_, = 0. These are precisely the equations of (#),. This proves the theorem.
For any function b we denote by [db = b'/b the “logarithmic derivative™ of b.

THEOREM 4. Let F be any form (homogeneous polynomial) of degree n in solutions of the DE.
Then = =I0F is a solution of (#),.

PrOOF. First we prove that if F; and F, are functions such that [0F, and IF, arc solutions
of (#),. then 16(¢, F, +¢, F,) is a solution of (#), for any ¢,. ¢,eC. Let a!. af. ¢} denote
the sequences determined by (#), for == [0F,. [0F,. I6(c, Fy + ¢ F,) respectively.
We claim that
(¢ F,+c,Fal = ¢ Flal +e,F,ya?.
This is clear for i = n. Also
(¢, F ey Fal = Fi4+ e, F)—at —10(¢ Fy + ¢y Fyai —(n—i + Drai. ]
= —[(c,F, e, Fal) —m—i)i+ Dr(c, F, + ¢ Fyai.
=—[c,Fial +c,Fyar] —(m—i)i+ D[c, Fial  +¢-Fsai ]
=c, Fal (+c,Fyal | (i=n.....0).
Therefore
(c,Fi+c,Fa, =c¢, Flat | +c¢,F,a® | =0.
which verifies our assertion.
To prove the theorem, we may assume that
F=]]n.
i=1
where #,, .. .. n, are solutions of the DE.

Let w,=n;/ny; and denote by a,, the kth symmetric function of w,... .. ,,. Thus
o =0Tork<Oorhk>m o,,=1and
Ot = Y W, W
1€ip< - <igSm

for 1 <k <m. First we claim that

O = M+ T —K)G, =0y Oy K+ 1)T 54 -
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This formula is easily checked for m =1 and, for m > 1,
Ok = (Om— 1 kO 1 k- 1Om)
= M=Ky ko1 = Oy 1 Oy k F K10 4y
M+ 1=k)rGp k2= Om—1.10m— 1.k 1+ KO 1 (]
+ 01k 1(r—p)
=M+ 1=Kr(0pm 1 k-1 F O 1 k= 20m) = (O 1 1+ OO | kO 1 k- 1 D)
Fk+ 1D Om-14+1FOm—1.6Om)

=Mm4+1=kIro, - 1—0m O+ k+1)0 141

which completes the induction.
Next we use induction on i to prove that

a=(-D"Yn=-lo,,;
Evidently i
z=0BF =) o =0,.

Using (#),. we have
iy =—a;j—za;—m—i(i+ ra;,,

=(=1)"" =)o, i+a, (=" (n=D'o,,
—(n—=(i+Dr(=1)Y"(n—=1=0'0, ,

= (“ l)nii(n_i)! [0;.n—i+anlan.n—i_(i+ l)ro-n.nAl—i:]
= (=" =D (n—i+ Do, . i,

= (*l)ri(n‘i‘*‘l)! Opn—i+1-
Hence
a_;=(—D"n+D'o, 1 =0.

This completes the proof of the theorem.

THEOREM 5.

(i) If G is the tetrahedral group, then (#), has a solution z = Idu. where u®e C(x).
(i) If G is the octahedral group, then (# ), has a solution = = l6u. where u? € C(x).
(iii) If G is either the tetrahedral group, the octahedral group or the icosahedral group,
then (#),, has a solution z = ldu, where ue C(x).

Proor. This theorem is a corollary of Theorem 3 of the present section and Theorem 3 of
the previous section. For part (i) we may take u=n*+8y(3, for part (ii) we may take
u=n—n{ and for part (ii) we may take u=*+87%)3. (X —n)? or
SR I UNSE LG
We shall write

u?m =TT (x—e) e C(x).

where n=4, 6 or 12 and ¢, Z. Our next step in the proof is to determine the various
possibilities for e.. as stated in step | of the algorithm. For ease of notation. we shall
assume that ¢ =0. To this end we shall use the Laurent series for

N n N 2n
= 1du = E I(>(lll ).

L]
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namely
PRI P (e = e,eZ, possibly 0)
and for r, namely
r=ax +px" '+ (x BeC. possibly 0).

(Note that, by the necessary conditions of section 2, r can have no pole of order
exceeding 2.)

First we consider the possibility that x =0 and f # 0, corresponding to (¢,) of Step | of
the algorithm.

THEOREM 6. I/ 2 =0 and f #0, ‘then e = 12.

PROOF. We write

and treat ¢ and f as indeterminates. Then
4= A X" BN T G
where A;. B;. C; arc polynomials in ¢ with coefficients in C. Using (#), we tind that

n:*I~ Bn:CnZO'

B, = <n~i—l—1nze> Bi—(m—dli+ N4, .,

Ci, = <n—i—]— 1”2 e> Cim A,
fori=n.... 0.

We leave to the reader the verification that the solution to these equations is given by

y "~[LI1<~ n )
= Jj—5e
i=0 / 12

n—i-2

Z (j+ D(n—j) —]_:_[—_ ——
k-0 12

._(n—]lll_l ( > (i:I1.....0)

because
O=a_,=A_ x""'"4+B. x "+C_, fx "+
o on
0=A4_,=—1]] (,‘— e)
=0\ 12
and _

=f Z (j+Dn—p ];[ (k—;—-e) +fn+1) H <k—1”,)e>.
k=0 = A
k=)
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The first equation implies that
12

e=—1
n
for some =0, ....n. Suppose that [ # n. Then the second equation gives
n—1
C=pl+Dn-0 [] (k=0.
k=0
k#l

which implies that = 0. This contradiction shows that | =# and therefore ¢ = 12. This
proves the theorem.
Next we consider the possibility that x #0. This corresponds to (c¢,) of Step 1 of the

algorithm. As above we write ;= A;x' 7"+ - - -

LEMMA. A; is a polynomial in e with coefficients in Q] whose degree is n—i and whose
leading coefficient is —(—(n/12))""".

PrOOF. Using (#), we have
A, =—1

A= <ni 1”)()) A;— =D+ DxA; .

The lemma is immediate from these formulas.

The author did not succeed in finding a closed-form solution of these equations, thus
we shall use an indirect argument.

Assume that x # — 1/4. Then the DE )" = ry has Puisseaux series solutions of the form

ny=xt4- = §+%\/T-F4_3(

1

Ny =XM1 oo, Wy = 1— 2\/T+4a.
By Theorem 4, [3(n', 5% is a solution of (#), for every i=0. ..., n. Since

(5™ = (i +(n—Duy)x T+

_ (g _ ( - i) S )

the polynomial A4 | must vanish for

12 n nooN\
;;é’=§“<2_l>\/1+41 (120,....11).

THEOREM 7.

(i) Assume that G is the tetrahedral group. Then e is an integer chosen from among

(iiy Assume that G is the octahedral group. Then ¢ is an integer chosen from among
6+ky 1+4o k=0. +2. +4, +6.
(ifi) Assume that G is either the tetrahedral group, the octahedral group or the

icosahedral group. Then e is an integer chosen from among 64k 1 +4a.
k=0, +1..... +o6.
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ProOoOF. (i) In this case n =4. If «# 1/4, then we may use the Lemma and the remarks
following it to obtain

4 2 N ——
0=A_, =] (%—2+(2—i)v/1+4az).

i=0

Thus o
e=06+k/1+4a, k=0, +3, +6.
If x = —1/4, we compute directly, using the recurrence relations given above.
Ay =—1
4, =1e

A
Ay =35’ —9e* + % e—54)
Ay = — s (¢* — 180% 4 13502 —459¢ 4 1215)
A = 3h3(€° —30e* + 360e® — 2160e? + 6480 — 7776)

= jﬁ(é’-— 6)5

(i1} In this case n=6. If a# —1/4, then we may use the Lemma and the remarks
following 1t to obtain

4

[§] .
0=4_, =‘[]O <; —34+(3—i) T+42).

Thus o
¢e=6+ky/1+4a, k=0.+2, +4, +6.
If x = —1/4, we compute directly.
A, =—1
A =1e

Ay = K —2e+6)
Ay = ke — 62 +24e—24)
Ay = — (et =123 +72¢% — 192¢ + 216)
Ay = 5(e5—20¢* + 180¢> — 840¢* +2040¢ —2016)
Ao = — (e~ 3005+ 390e* — 27606 + 111606 — 24336 + 22320)
A | = 3g(e7 —42e°+7560° — 7560e* 4 453606 — 163296¢> + 326592¢ — 279936)

(11i) In this case n=12. If 2 # —1/4. then we may use the Lemma and the remarks
following it to obtain

12 JE—
O0=A_, =[] (e—=6+(6—0)/1+4x).
i=0

Thus

e=6+ky 1440 k=0.+1,.... +6.



Solving Homogeneous Differential Equations 41

If x = —1/4, we compute directly. Using a programmable calculator we obtained the
following.
A, =—1
A, =e

Ajg=—e"+e-3

Ay =3 —3e? +5e—6

Ag = —e*+6¢° —27e? +45¢ -8}

A, = e’ —10e* +60e* — 180e? + 315¢ — 216

Ag = — €+ 15¢% — 120¢* + 540¢% — 1485¢> + 224 1¢ - 1485
Ag = 7 =216+ %415 —1365¢* 4 53550 — 1304107 + 394770 — 11178
Ay = —¢®+28¢7 —378¢° 4 3066¢° — 16170¢* + 561960 — 125118¢>

+162378¢ — 187677

Ay = ¢®—36¢° +612¢7 —6300¢° +42903¢° — 199206¢* + 628236¢°
—1293732¢ + 3154950 — 862488

A, = —e'04+45¢% - 945¢8 + 12060e” — 103005¢° + 612927¢° — 2566620¢*

2 77
— 745362093 . 286829795(,2+ 330022-35(,_ 1721238

A, = el 55010 42805,9 21780¢% +228195¢7 — 1690227¢°

4 18035325,5 3461 38650% 4 L8TISSTI5,3 339300165,
+ 141129879, 92538045

Ay = —e'2 466011 —2013¢10 4 37455¢% — 2422438
—28176687¢° + 137179251¢3 — 276223585 % 4 1240169535¢°

2 7,2 2717
_4-26102 662 e +4446120 1 ()74261026627

A_, = e —T78e'2+2808¢' —61776¢'" +926640¢° — 10007712¢"
+80061696¢7 —480370176¢° +2161665792¢° —7205552640¢*
+17293326336¢° —28298170368¢7 + 28298170368¢ — 13060694016

=(e—6)"

This proves the theorem.

Finally we consider what happens if x = =0, i.e. at an ordinary point of r. Using the
previous theorem, we have that (n/12)e is an integer.

Let I denote the set of poles of r. We have proven the following.

(1) In the tetrahedral case, (#), has a solution = = [du, where
u? = P[] (x—o),
cel

PeC[x] and e, is an integer chosen from among 6+kvr’f1712&. k=0.+3, +6.
(i1) In the octahedral case, (#)q has a solution = = [ou., where

w? =P [] (x—0o).

cell
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PeC[x] and e, in an integer chosen from among 6+kv//lv +4u k=0, 42, +4. +6.
(iii) In either the tetrahedral case, the octahedral case or the icosahedral case, (#),
has a solution = = [du, where

u=PJ[] (x=0c)
cel’
PeC[x] and e, is an integer chosen from among 6+k\/’l +4x k=0.+1.....+6.
Let d = dep P. Then the Laurent series for - at oc has the form

< d+;r )

and the Laurent series for r at oc has the form
F=yx i

(By the necessary conditions of section 2, the order of r at oc is at least 2.)
If we let >
e, =—d+ Y e,.

n cel

then. by a theorem analogous to Theorem 7, ¢, satisfies the same conditions as does each

e.. Also
n
d= > <ei —C; e(.>

must be a non-negative integer. This is a restatement of step 2 of the algorithm.
We shall complete the proof of the algorithm by showing that the recursive relations of
step 3 are identical with (#),.
Let
n e

0=-—=3% —— and S=][(x—c).

12 ft x—c cel
Then z = [6u= P'/P+0. Also set P;=S" 'Pa,. Using (#),. we have
P,=—P
P, =S8"""Pa,_,
= 8" P(—a,—za,—(n—i)i+ Dra;, ;)
= —S8(8""'Pa,) +(n—i)S""'S'Pa;+S" """ Pa,
—S(P'+ PO)S" ‘a))—(n—i)i+ 1)S*H(S" " 'Pa,. )

=SP4+ ((n—i)—SO)P;,— (n—i)i+ 1)S*rP,, .

This is precisely the equation of step 2 of the algorithm.
Finally, the equation
n—1 a; .
w = izzo m w
may be rewritten as

n i

.\ S"Pa; n
0——SPw+Z ~1)' Z —1)‘

This completes the proof of the algorithm.




Solving Homogeneous Differential Equations 43

References

Baldassarri. F. (1980). On second order linear differential equations with algebraic solutions on algebraic curves.
Am. J. Math. 102, 517-535.

Baldassarri, F.. Dwork. B. (1979). On second order linear differential equations with algebraic solutions. Am. J.
Muath. 101, 42--76.

Borel. A. (1956). Groupes linéaires algébriques. Ann. Math. 64, 20-82.

Burnside. W. (1955). Theory of Groups of Finite Order, 2nd edn. New York: Dover.

Char. B. W.. Fee. G. J.. Geddes, K. O.. Gonnet, G. H.. Monagan, M. B. (1986). A tutorial introduction to
MAPLE. J. Symbolic Computation 2, (in press).

Kaplansky. L. (1957). An Introduction to Differential Algebra. Paris: Hermann,

Kolchin, E. R. (1973). Differential Algebra and Algebraic Groups. New York: Academic Press.

Pavelle. R., Wang. P. S. (1985). MACSYMA from F to G. J. Symbolic Compuiation 1, 69 -100.

Saunders. B. D. (1981). An implementation of Kovacic’s algorithm for solving second order linear
homogencous differential equations. Proc. SYMSAC 81 (P. Wang. ed.), pp. 105-108. New York: ACM.

Singer. M. F. (1979). Algebraic solutions of ath order lincar differential equations. Proceedings of the 1979
Queens University Conference on Number Theory. Queens Papers in Pure and Applied Mathematics.
No. 54.

Singer. M. F. (1981). Liouvillian solutions of nth order homogeneous lincar differential equations. A4m. J. Maih.
103, 661-682.

Singer. M. F. (1985). Solving homogeneous lincar differential equations in terms of second order linear
differential equations. Amer. J. Math. (in press).

Smith, C. (1984). A discussion and implementation of Kovacic's algorithm for ordinary differential equations.
University of Waterloo Computer Science Department Research Report CS-84-35.



